College Algebra — Joysheet 5 Name: Sﬁ"j O@%
MAT 140, Spring 2016 — D. Ivansi¢ Covers: 1.5, 1.6 Show all your work!

Solve the inequalities. Write your solution in interval notation.
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3. (6pts) Find the domain of the function in interval notation: f [z}zﬁ'.
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4. (l4pts) For her birthday, Christa is considering renting an event venue. Her choices are
Party Pad, which charges 5100 per event plus $40 per hour, or Fiesta Flat, which charges
$200, which includes two hours, and then $30 per hour for every hour after the first two.
Christa plans her party to last at least two hours. For which number of hours is Party Pad
the better option for her?

}(f Ve bg- r/‘f henav I‘f};?, < -’_'EU
Chviite ree
ke veuh “

*Pmi:j Ped cost = 100440x X <
Fodu Aot o= 2001 30(x~2)
Pary Ped (7 Joukr whee

100 +40x < 200+230(x-2)
1004+40% ¢ 1404 30x

Pk ek
eibolls wp b 4 hews




5. (14pts) A 250-mile-long road joins cities Frogtown and Snakeville. At the same time,
one car leaves Frogtown and drives toward Snakeville, and another car, driving 11mph faster
than the first car, leaves Snakeville and drives toward Frogtown. After 2 hours they meet
on the road.

a) What are the speeds of the cars?

b) How far from Frogtown did they meet? 4,},: ’2?3
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6. (14pts) How many liters of a 10% solution of hydrobromic acid must be mixed with
7 liters of a 25% solution of hydrobromic acid in order to get a 19% solution of hydrobromic

acid?
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